

MOBILE BAY INSP HOME Sales Order 1435003

Order Date 01/17/23

Sold To

MOBILE BAY INSP HOME 30500 HWY 181

SPANISH FORT AL

36527

Cell: 251 555-5555

Pick-Up By:

Pickup Option	Terms	Salesperson	Customer #	Store
P - Customer Pickup	No Terms	HF	1435003	14

Ln#	Model/Brand/Description	Order	Price	Amount
1	P Model: 111301 Brand: AtelierHome ADRIENNE SOFA	1	\$2,873.00	\$2,873.00
2	P Model: 112703 Brand: AtelierHome KENDALL SWIVEL CHAIR	2	\$1,398.00	\$2,796.00
3	P Model: 106905 Brand: AtelierHome ELLIE OTTOMAN	1	\$273.00	\$273.00
4	P Model: 112606 Brand: AtelierHome WARWICK BENCH	1	\$2,248.00	\$2,248.00
5	P Model: 117503 Brand: AtelierHome SELDON SWIVEL CHAIR	1	\$1,602.00	\$1,602.00
6	P Model: 516941 Brand: AtelierHome EVERLEE CHAIR	2	\$948.00	\$1,896.00
7	P Model: 53004983 Brand: CCHE Piper Accent Chair	1	\$1,225.00	\$1,225.00
8	P Model: ENC03-81012 Brand: JRLG ENCLAVE RUG	1	\$1,788.00	\$1,788.00

Thank You for your business. Have a Great Day!

Continued

- Regularly priced non-upholstered items may be returned within 14 days for refund
- Upholstered items, rugs, pillows & lamps must be returned within 3 days for refund
- No returns, exchanges or cancellations will be accepted on Special Orders
- Damaged/dirty items will not be accepted for return
- Items purchased with a damage/defective discount are final sale
- \bullet Sold items must be picked within the 7-day deadline or a 1% per week storage fee will be charged
- Buyer assumes all risk & liability associated with transportation of merchandise picked up from Stock & Trade Design Co.



251 264-6996

MOBILE BAY INSP HOME

Sales Order 1435003

Ln#	Model/Brand/Description	Order	Price	Amount
9	P Model: RP01-912 Brand: JRLG EXTRA PLUSH PREMIUM RUG PAD	1	\$264.0	0 \$264.00
10	P Model: 2101 Brand: As Meadow Metal Cocktail Table	1	\$1,000.0	0 \$1,000.00
11	P Model: 2101 Brand: As Meadow Metal Cocktail Table	1	\$1,000.0	0 \$1,000.00
12	P Model: SCH-290050 Brand: GY BARNES SIDE TABLE	1	\$681.0	0 \$681.00
13	P Model: SCH-155795 Brand: GY HART SIDE TABLE	1	\$1,045.0	0 \$1,045.00
14	P Model: BB034 Brand: DL RAFFA SIDE TABLE	1	\$297.0	0 \$297.00
15	P Model: SCH-169200 Brand: GY NELLE	1	\$314.0	0 \$314.00
16	P Model: DOV38003 Brand: DL BASEL CABINET	2	\$2,959.0	0 \$5,918.00
17	P Model: 3000-0131 Brand: CYCY Verona Chanterelle Desk	1	\$3,000.0	0 \$3,000.00
18	P Model: RRBU4H_UN Brand: AEDYR Metal Drapery Rod 7/8" Scale	4	\$171.6	0 \$686.40
19	P Model: RIBON7 Brand: AEDYR Smooth Iron Ring 1" Scale	8	\$50.0	0 \$400.00
20	P Model: SP3015GI/CG-NP Brand: VLCT BROOKS TABLE LAMP	1	\$718.0	0 \$718.00
Thank	You for your business. Have a Great Day!	Contin	ued	

[•] Regularly priced non-upholstered items may be returned within 14 days for refund • Upholstered items, rugs, pillows & lamps must be returned within 3 days for refund

[•] No returns, exchanges or cancellations will be accepted on Special Orders

[•] Damaged/dirty items will not be accepted for return

[•] Items purchased with a damage/defective discount are final sale

[•] Sold items must be picked within the 7-day deadline or a 1% per week storage fee will be charged

[•] Buyer assumes all risk & liability associated with transportation of merchandise picked up from Stock & Trade Design Co.



MOBILE BAY INSP HOME

Continued

Sales Order 1435003

Order Date 01/17/23

Ln#	Model/Brand/Description	Order	Price	Amount
21	P Model: TOB1002BZ/HAB-L Brand: VLCT BRYANT FLOOR LAMP BRONZE	1	\$543.29	\$543.29
22	P Model: ARN1420HAB-L Brand: VLCT ALANDER FLOOR LAMP ANTQ BRASS	1	\$820.49	\$820.49
23	P Model: DF3660 Brand: CECP DECANTER W/ DRINKING GLASS	2	\$25.00	\$50.00
24	P Model: AH1571 Brand: BE COCKTAIL SHAKER W/ HORN TOP	1	\$30.00	\$30.00
25	P Model: 7646 Brand: BZBL PIELES CROC ICE BUCKET	1	\$101.00	\$101.00
26	P Model: AC31704 Brand: JNIL RHEA DECORATIVE BOX	1	\$94.00	\$94.00
27	P Model: 84619 Brand: UMAHD POLYSTONE ABSTRACT SCULPTURE	1	\$106.00	\$106.00
28	P Model: 84618 Brand: UMAHD WHITE POLYSTONE ABSTRACT	1	\$187.00	\$187.00
29	P Model: 73-899 Brand: KADR HORN MAGNIFYING GLASS ASSORTED	1	\$40.00	\$40.00
30	P Model: 95950S Brand: UMAHD 95950 SCULPTURE CIRCLE	1	\$66.00	\$66.00
31	P Model: 95951 Brand: UMAHD MARBLE SCLPTR ON STND 11IN RND	1	\$58.00	\$58.00
32	P Model: 10654 Brand: CNDN	1	\$141.00	\$141.00
				1

- Regularly priced non-upholstered items may be returned within 14 days for refund Upholstered items, rugs, pillows & lamps must be returned within 3 days for refund
- No returns, exchanges or cancellations will be accepted on Special Orders
- Damaged/dirty items will not be accepted for return

Thank You for your business. Have a Great Day!

- Items purchased with a damage/defective discount are final sale
- \bullet Sold items must be picked within the 7-day deadline or a 1% per week storage fee will be charged
- Buyer assumes all risk & liability associated with transportation of merchandise picked up from Stock & Trade Design Co.



MOBILE BAY INSP HOME

Sales Order 1435003

Ln#	Model/Brand/Description	Order	Price	Amount
	MODAMETRIC CONTAINER			_
33	P Model: 10655 Brand: CNDN MODAMETRIC CONTAINER	1	\$200.00	\$200.00
34	P Model: 8735 Brand: CNDN LARGE SELENA VASE	2	\$169.00	\$338.00
35	P Model: DA7263 Brand: CECP TERRACOTTA CACHEPOT	2	\$153.00	\$306.00
36	P Model: DA7264 Brand: CECP TERRACOTTA CACHEPOT	2	\$77.00	\$154.00
37	P Model: DA7265 Brand: CECP TERRACOTTA CACHEPOT	2	\$60.00	\$120.00
38	P Model: 10105 Brand: CNDN SMALL WESLEY VASE	1	\$41.00	\$41.00
39	P Model: 41198L Brand: UMAHD WOOD & MOP INLAY BOX 12IN	1	\$77.00	\$77.00
40	P Model: 16407-03 Brand: SKHE MARBLE RECTANGLE BOX W/KNOB	1	\$58.00	\$58.00
41	P Model: 15673-01 LARGE Brand: SKHE RECTANGULAR BOX LARGE	1	\$73.00	\$73.00
42	P Model: 1200-0213 Brand: CYCY IMPERIAL MEDIUM VASE	1	\$55.00	\$55.00
43	P Model: 15558LG Brand: SKHE DECORATIVE METAL TRAY	1	\$105.00	\$105.00
44	P Model: 15558SM	2	\$70.00	\$140.00
Thank	You for your business. Have a Great Day!	Contin	ued	

- Regularly priced non-upholstered items may be returned within 14 days for refund Upholstered items, rugs, pillows & lamps must be returned within 3 days for refund
- No returns, exchanges or cancellations will be accepted on Special Orders
- Damaged/dirty items will not be accepted for return
- Items purchased with a damage/defective discount are final sale
 Sold items must be picked within the 7-day deadline or a 1% per week storage fee will be charged
- Buyer assumes all risk & liability associated with transportation of merchandise picked up from Stock & Trade Design Co.



MOBILE BAY INSP HOME

Continued

Sales Order 1435003

Order Date 01/17/23

Ln#	Model/Brand/Description	Order	Price	Amount
	Brand: SKHE DECORATIVE METAL TRAY			
45	P Model: 10255 Brand: CNDN MEDIUM ANDROID BOWL	4	\$150.00	\$600.00
46	P Model: 15482-03 Brand: SKHE MARBLE TRAY	1	\$148.00	\$148.00
47	P Model: 41-119 Brand: KADR BELTON BOWL	1	\$198.00	\$198.00
48	P Model: 41-116 Brand: KADR BELTON SHORT BOTTLE	1	\$143.00	\$143.00
49	P Model: TS112 Brand: NAHEG PLAYA CACHEPOT	1	\$18.00	\$18.00
50	P Model: DI1202 Brand: NAHEG PHALAENOPSIS DROP-IN 15" WHITE	1	\$40.00	\$40.00
51	P Model: 10106 Brand: CNDN WELLESLEY LARGE VASE	1	\$48.00	\$48.00
52	P Model: CAT-C1121 Brand: AOLG CATALINA 21" PLANTER	1	\$275.00	\$275.00
53	P Model: ZEOLITE Brand: FKTSA ZEOLITE/800-345 GLASS FRAMED	3	\$231.00	\$693.00
54	P Model: FB18218 Brand: DRFF LOUNGE LIZARD GREEN DEC PILLOW	2	\$121.00	\$242.00
55	P Model: V240052 Brand: VillaHome HUNTER THROW WHITE 50X70	1	\$235.00	\$235.00

	Regularly priced non-u	pholetorod itoms	may ho ro	turned within	14 days for refund
•	Requially priced non-u	prioisterea iterris	illay be re	turnea witiiii	14 days for refulid

[•] Upholstered items, rugs, pillows & lamps must be returned within 3 days for refund

Thank You for your business. Have a Great Day!

[•] No returns, exchanges or cancellations will be accepted on Special Orders

[•] Damaged/dirty items will not be accepted for return

<sup>Items purchased with a damage/defective discount are final sale
Sold items must be picked within the 7-day deadline or a 1% per week storage fee will</sup> be charged

[•] Buyer assumes all risk & liability associated with transportation of merchandise picked up from Stock & Trade Design Co.



MOBILE BAY INSP HOME

Sales Order 1435003

Ln#	Model/Brand/Description	Order	Price	Amount
56	P Model: T5000PW Brand: PMPMH MONTAUK THROW	1	\$220.00	\$220.00
57	P Model: 3699 Brand: DVKP CALI PILLOW 24X24	2	\$273.00	\$546.00
58	P Model: FB16900 Brand: DRFF BARWICK KIWI DECORATIVE PILLOW	2	\$242.00	\$484.00
59	P Model: FB18218 Brand: DRFF LOUNGE LIZARD GREEN LUMBAR PIL	2	\$121.00	\$242.00
60	P Model: FB14542 Brand: DRFF JACK LEMONGRASS LUMBAR PILLOW	2	\$121.00	\$242.00
61	P Model: 0-7352-3529-5 Brand: CNGD CRAFT COCKTAILS	1	\$20.00	\$20.00
62	P Model: 0-399-58276-2 Brand: CNGD LAST CALL	1	\$35.00	\$35.00
63	P Model: 0-8478-2669-4 Brand: CNGD TOM FORD	1	\$140.00	\$140.00
64	P Model: 1-4197-3333-8 Brand: CNGD ARCHITECTURAL DIGEST AT 100	1	\$125.00	\$125.00
65	P Model: 0-8478-4081-6 Brand: CNGD THOMAS PHEASANT: SIMPLY SERENE	1	\$65.00	\$65.00
66	P Model: 1-4236-5092-1 Brand: CNGD PATINA LIVING	1	\$40.00	\$40.00
67	P Model: 1-4236-5684-9 Brand: CNGD PATINA HOMES	1	\$50.00	\$50.00
Thank	You for your business. Have a Great Day!	Contin	ued	

[•] Regularly priced non-upholstered items may be returned within 14 days for refund • Upholstered items, rugs, pillows & lamps must be returned within 3 days for refund

[•] No returns, exchanges or cancellations will be accepted on Special Orders

[•] Damaged/dirty items will not be accepted for return

[•] Items purchased with a damage/defective discount are final sale

[•] Sold items must be picked within the 7-day deadline or a 1% per week storage fee will be charged

[•] Buyer assumes all risk & liability associated with transportation of merchandise picked up from Stock & Trade Design Co.



MOBILE BAY INSP HOME

Continued

Sales Order 1435003

Order Date 01/17/23

Ln#	Model/Brand/Description	Order	Price	Amount
68	P Model: 0-8478-4361-0 Brand: CNGD NANCY BRAITHWAITE: SIMPLICITY	1	\$57.50	\$57.50
69	P Model: 0-8478-6479-0 Brand: CNGD DESIGNING HISTORY	1	\$60.00	\$60.00
70	P Model: WCL1398/WC0071 Brand: WRAT STRAWBERRY TIDE GALLERY WRP	1	\$1,350.00	\$1,350.00
71	P Model: SEP1/TrpSelenite/VGRV/1300-585 Brand: FKTSA TRPL Selenite/Dbl wht mat/taup	1	\$400.00	\$400.00
72	P Model: SEP5/TrpSelenite/VGRV/1300-585 Brand: FKTSA TRPL Selenite/Dbl wht mat/taup	1	\$400.00	\$400.00
73	P Model: SEP4/TrpSelenite/VGRV/1300-585 Brand: FKTSA TRPL Selenite/Dbl wht mat/taup	1	\$400.00	\$400.00
74	P Model: SEP6/TrpSelenite/VGRV/1300-585 Brand: FKTSA TRPL Selenite/Dbl wht mat/taup	1	\$400.00	\$400.00
75	P Model: WCL1645 Brand: WRAT FROM THE OCEAN 1	1	\$740.00	\$740.00
76	P Model: WCL1646 Brand: WRAT FROM THE OCEAN 2	1	\$740.00	\$740.00
77	P Model: 3101BKP-L Brand: VLCT CORBIN BLACK PEARL ACCENT LAMP	1	\$476.00	\$476.00
78	P Model: SOCB Brand: AENN STROKES OF COMPASSION	1	\$77.00	\$77.00
79	P Model: BUI-27 Brand: FKTSA	1	\$396.00	\$396.00

Thank You for your business. Have a Great Day!

[•] Regularly priced non-upholstered items may be returned within 14 days for refund • Upholstered items, rugs, pillows & lamps must be returned within 3 days for refund

[•] No returns, exchanges or cancellations will be accepted on Special Orders

[•] Damaged/dirty items will not be accepted for return

<sup>Items purchased with a damage/defective discount are final sale
Sold items must be picked within the 7-day deadline or a 1% per week storage fee will</sup> be charged

[•] Buyer assumes all risk & liability associated with transportation of merchandise picked up from Stock & Trade Design Co.



MOBILE BAY INSP HOME

Sales Order 1435003

Ln#	Model/Brand/Description		Order	Price	Amount
	BUILDING INTAGLIOS 27FR1395-15				_
80	P Model: BUI-26 Brand: FKTSA BUILDING INTAGLIOS 26FR1395-15		1	\$396.00	\$396.00
81	P Model: BUI-17 Brand: FKTSA BUILDING INTAGLIOS 17FR1395-15		1	\$396.00	\$396.00
82	P Model: BUI-9 Brand: FKTSA BUILDING INTAGLIOS 9 FR1395-15		1	\$396.00	\$396.00
83	P Model: BUI-3 Brand: FKTSA BUILDING INTAGLIO 3 FR 1395-15		1	\$396.00	\$396.00
84	P Model: HCLRT6 Brand: HEFS FanPleat Drp Panel 120" Lined		8	\$264.00	\$2,112.00
85	P Model: BUI-44 Brand: FKTSA BUILING INTAGLIOS 44FR1395- <u>15</u>		1	\$396.00	\$396.00
PICI	KUP ADDRESS	_ Merchano	dise:		\$48,365.68
3050 SPA	k & Trade Spanish Fort, AL 00 US Hwy 181 N. NISH FORT, AL 36527 up Date: 03/31/23		Tax:		\$4,594.74
		Total Sales Or	der:		\$52,960.42

Thank You for your business. Have a Great Day!	Amount Due:	\$52,960.42
--	-------------	-------------

- Regularly priced non-upholstered items may be returned within 14 days for refund
 Upholstered items, rugs, pillows & lamps must be returned within 3 days for refund
- No returns, exchanges or cancellations will be accepted on Special Orders
- Damaged/dirty items will not be accepted for return
- Items purchased with a damage/defective discount are final sale
- Sold items must be picked within the 7-day deadline or a 1% per week storage fee will be charged
- Buyer assumes all risk & liability associated with transportation of merchandise picked up from Stock & Trade Design Co.